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Poussins 145 100 0 0 0 0 245
Benjamins 87 132 64 37 160 40 585
Minimes 192 112 104 0 145 0 553
Cadets 180 0 0 0 0 0 180
Juniors 0 0 0 0 0 0 0
TOTAL 604 344 168 37 305 40 1563
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Poussins 2 1 0 0 0 0 3
Benjamins 2 2 2 1 3 1 12
Minimes 3 2 3 0 3 0 11
Cadets 2 0 0 0 0 0 2
Juniors 0 0 0 0 0 0 0
TOTAL 9 5 5 1 6 1 28
Poussins |Benjamins [Minimes |Cadets |Juniors |TOTAL
1 |Champagnat 145 87 192 180 0 604
2 |AEL 100 132 112 0 0 344
3 |TTGB 0 160 145 0 0 305
4 |TT Dunois 0 64 104 0 0 168
5 |EPPS 0 65 0 0 0 65
6 [|Jarnages 0 40 0 0 0 40
7 |St-Laurent 0 37 0 0 0 37
245 585 553 180 0 1563




